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A+B(£m) AFE=IEB(Fm|)
2 BFfE (8 6,600 H 3,300 H
4 BFfE (2#) 13,200 H 6,600 H
6 BFfE (3#) 19,800 H 9900 H
8 BFfE (4#) 26,400 H 13,200 H
10 H§fE (5#) 33,000 H 16,500 H
12 B5fE (64%) 39,600 H 19,800 H
EED 3,300 M 1,650 M
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1EEH-YERR 1,150 A
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1 BFfE - 2300 H 1,150 H
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A+B(£m) AFE=IEB(Fm|)
2 BFfE (1#) 3,280 H 1,640 H
4 BFfE (2#) 6,560 M 3,280 H
6 BFfE (3#) 9840 H 4920 H
8 BFfE (4#) 13,120 H 6,560 M
10 H§fE (5#) 16,400 H 8,200 H
12 B5fE (64%) 19,680 H 9840 H
EED 1,640 F 820 M
[ F445—HREA(LHATDHE) ] (TS99 REE)
1EEH-YERR 1,150 A
ZEMIT IR %EE’J’J“%?‘/F‘
1§FEE#FEE] ﬁﬁﬁ*—’#ﬁ A+B(éﬁ) Aif:[iB(#E)
ERHE ERA#E
1 BFfE - 2300 H 1,150 H
2 FEfE - 4600 H 2300 H
4 FFRE - 9,200 H 4600 H
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ZEMT IR %EE‘J’J“%?‘/F‘
(55 FA B RS (5 AR A+B(£MH) AZE-1EB(Fm)
ERHE ERHE
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[ 2BMT5IUR(ATE) ]

(TS5 FEm)
1BFEH-YERR 3,300 M

‘ ERHE

wAnl | G E [ zamsseor | BEmIooUE

A+B(Z£m) AFEf=IEB(Fm)

2 EFfE (1#) 13,200 H 6,600 M

4 EFfE (2#%) 26,400 H 13,200 M

6 EFfE (3#%) 39,600 M 19,800 H

8 E¥fE (4#%) 52,800 M 26,400 M

10 B¥fE (5#%) 66,000 M 33,000 M

12 BFAE (6#%) 79,200 H 39,600 M

EED 6,600 M 3,300 M

[ 42— (£HRTDIES) ] (TS5 REmE)

1B =Y AR 1,650 A

2B IIUF ZEHTIIUF

5 RS P R A+B(£Mm) AFEf=1EB($m)

FERANE ERAME

1 BFfE - 3,300 H 1,650 A

2 BfE - 6,600 H 3,300 M

4 BFfE - 13,200 H 6,600 M

[ F452—BEAGHTD2RTDIHE) ] (F5UREE)
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1 F¥fE - 2,300 A 1,150 H

2 EFfE - 4,600 M 2,300 A

4 EFfE - 9,200 H 4,600 M
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A+B(Z£m) AFEf=IEB(Fm)

2 EFfE (1#) 26,400 H 13,200 H

4 EFfE (2#%) 52,800 M 26,400 M

6 EFfE (3#%) 79,200 H 39,600 M

8 E¥fE (4#%) 105,600 M 52,800 M

10 B¥fE (5#%) 132,000 A 66,000 M

12 BFAE (6#%) 158,400 H 79,200 H

EED 13,200 M 6,600 M

[ 42— (£HRTDIES) ] (TS5 REmE)

1B =Y AR 3,300 A

2B IIUF ZEHTIIUF

5 RS P R A+B(£Mm) AFEf=1EB($m)

FERANE ERAME

1 BFfE - 6,600 H 3,300 M

2 BfE - 13,200 H 6,600 M

4 BFfE - 26,400 M 13,200 H
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1 B - 4620 H 2310 H

2 EFfE - 9,240 H 4620 H

4 EFfE - 18,480 M 9,240 H




